P/N: 207112530E1-B

HUAEFRAZ e 85

Cabinet Heat Exchanger

B
.
(FOEERVNER D

User Manual

277 it 2228 P AT A 40 B e AR 7 i !

Read this manual carefully before installation and using!



B = Foreword

MR Summary
ZF M HRUC E  210/N/T/D RFINUAERAZ W - 2150, A, Pl 223

i85 LK™ i e R BT OR o
The manual describes the series of HRUC E 210/N/T/D cabinet heat exchanger
instructions, declaration, product overview, installation guide, maintenance and

warranty.




A0 F Change History

JR A //\Version

XAFF 8 1/ Change History

H¥H // Date

A

B1#E // Created

2018-4-20




H x Catalog

B 55 FOTBWOIM ...ttt ettt et ettt e et et e et e e te et e e beete e st e ebeeaeeeteebeensesteessentesteesseatesnsessesteensesseessesesseas i
ZEFHALTE CRANGE HISTOTY ... ..ovveieieeeeeeeeeececee ettt ettt ettt ettt ettt e s eseae s e s s s st et st et et et e s et eseseseseseseaneeans ii
1 A ZIUT INSITUCHIONS «..voveveeeeeeeeteee ettt ettt ettt e et e et e s et e e et e s e s e et ese et et e st ese st essetessetessese s esesaseesereean 5
2 FEHH DECIAIALION ... ..ueeviiveeeie it ettt ettt e bt s b e e te et e s bt e b e s be e st e sbeebeesbesbeessebesaeesseabeeasesbeebeenbesbeeneeebesaeenre e 6
3 FEPIMEIR PrOOUCE OVEIVIEW .....c.ovieieeiieeceieeee ettt ettt s ettt e s et et et e et eae et essstessatensareans 8
TR0 A Y 2= Y o o] [T Ui o [PPSR 9

3.2 FE AL ProduCt NAMEPIALE .........vcveeeeiieeeieeeetetce ettt e e n e seeees 10

3.3 FEPBAT L PrOAUCE FEALUIES ........eveveeecieeeteceetee ettt ettt se et s et e e te et s 10

3.4 TAEJREE WOrKING PrNCIPIE c..c.voviieieeicticie ettt st ens 11

3.5 XU HEE Vs. N EBIEE 12k Fan Speed Vs. Inside Temperature CUIVe ..........ccccovevevevevevevevevevennnne. 12

3.6 KB TT AN FIOW OESIGN ...viiiiiiiiti ittt ettt sttt e et et e s be e be e e sbesbe e e aras 12

3.7 IBATIZHE OPEIatioN l0QIC .. ..ouvvieriveeeieeeeteeeete et e e et e e ettt et e ettt eesete et et e st e se et esesteeseteneerenes 13

3.8 TIRFHEEMEFE S MONItor OPEration QUILE .........ccccoveveveeeieiereeeeeieeeeeee ettt 13

3.9 HESHFEET Alarm and fault Management ... ... 15

310 HEFE MONIIOTING ....veiviiiecte ettt ettt et ettt ettt e e seeteeae et e st e ete et et e st e e eneanas 15

4 ZEEFRT INSTAllAtioN QUIE ... ..cueiiiiieiee ettt ettt st e s e be s ra e e e steetenreeraenbenreenae e 16
4.1 FA% 223 MaChing INSTANALION............c.eiveeeeeecee ettt s ettt s et en s e eeeseneeans 16

4.2 HS 2255 Electrical INSTAlIAtiON...........c.oeiveeeeeeeeece ettt ettt 17

5 FEMAET AT LR Maintenance and WAITANTY..........c.co.iiiiieiieireeie ettt steeteesre e esaeste e e stesteereenas 20
5.1 FEZET" Product MaiNtENANCE .......ccveeveeeeeeee ettt et eeeeete e e eee et aeeteesaesteereeeesteeneeetesreeneeenes 20

5.1.1 #EG T H: PrEPAr€ t0OIS .....cueovevieeeeieeeeeeeeeeeee ettt ettt te et e ese et ese e sn et eneeeeas 20

5.1.2 HH 4P ROULINE MAINTENANCE .......veveeeeeeeceeeeietce et ee et ee st en e tese s s ssess s eseeereensaaeas 20

5.1.3 54U K AbF J7 i Alarm code and handling Method .........c.c.veveeevevevceceeeeeceeeeeeeee 22

5.1.4 HAh#FE/>Hr 54 Other fault analysis and treatment ..............ccoveveveveveveveeeeeeeeeeeeeeenns 22

5.2 MR E i Replacing of COMPONENES .......c..cviiuiiiiieiie ettt et 23

5.2.1 Wi e Py XU How to replace the internal fan.............cc.ovceeiiviveeeiciercecececeeeee e 23

5.2.2 Hi{a] B e/ XU How to replace the external fan............co.ovcveeeeveveveeeeeeeeceeeeeee e 24

5.2.3 {58 #e £ # B How to replace the PCB-printed circuit board .............ccccceeeveveveeverennne. 24

5.3 55 IR S5 FIZERS SErvICe @and rEPAIN.........c.cveeieieeeieeeee ettt 25
o = T=Y ol P Y1 o OO 27




1 fF R Z0H Instructions

o AFMEHT: HRUC E 210/N/T/D R AINAE AL Hrds
This manual is for: the series of HRUC E210 /N/T/D cabinet heat exchanger
o [ HIAHLETE S50 o B AL FH 1 B 45
Be sure to read this manual before using the unit.
o AL AT R E 1) A B IAT A AT 52 2177 il 1 H o DR AR 55
Only when the user operate the unit in accordance with the user manual in warranty period
HuaRui can offer maintenance with free of charge.




2 7= B Declaration

RoHS Compliance Declaration of
Cabinet heat exchanger

European Guidelines 2011/65/EU (RoHS)
Legal regulation for Substances
Dear Sir/Madam,

Referring to the European guideline of 2011/65/EU, we confirmed that according to the current
status of our knowledge and in accordance with the regulations, we could produce products
complying with above mentioned guidelines especially for below type:

X HRUC E 210/N/T/D

Yours sincerely,

Engineering Department




Declaration of Conformity

Suzhou Huarui Thermal Control Technology Co., Ltd.
No.2, Tian’edang Rd. Wuzhong Dis.215100 Suzhou. P.R.China.

Tel.: +86 512 66570332; Fax: +86 512 68792690 // Email: info@huaruicooling.com

We herewith declare the following products:

Product Name:  Air to air heat exchanger
Product Model:  HRUC E 210 N/T/D
Product Version: A

Product No.: 112530

series products is in conformity with the following directives:

EN 60950-1:2006+A11:2009+A1:2010

+A12:2011+AC:2011+A2:2013

EN 60 335-2-

2014/30/EU | EMC-Directive 40:2003+A11:2004+A12:2005+A1:
206+A2:2009+A13:2012 safety

2014 /35/EU | Low Voltage Directive

Signed for and on behalf of:
Suzhou Huarui Thermal Control technology Co.,Ltd.

Signhature Place and date of issue:
(Dahai Zhao / CTO)



mailto:info@huaruicooling.com

3 P A Product Overview
KT AE About this chapter

KRENGT HRUC E 210/N/T/D HUERSHAIBI . 77 ilie i TAF R, RGBT, 817124
PR BEERA TR 3 DL R M R AL AT o VR PR AL HE AT R A DS E PHAT !

This chapter describes the HRUC E210/N/T/D cabinet heat exchanger application, product
features, the working principle, duct design, operation logic, monitor operation guide and alarm and

fault processing of information. It is required to strictly operate the unit according to this user
manual.




3.1 M Application

A Important

27 g T I HEH 5 Tk B & N i vt s R REHUE e s, (S BR ARt G
S M . AR AR T RHEHIME CIER TAER & APIRE ) WHBSHATIR B,  DLORIE
M BT oo AT DLUIE R TR, R H A TAEERE
The product is designed for communication or related industrial equipment applications and
design of high performance cabinet heat exchanger , Please use the DC power (Please refer to
the nameplate), The installation is the significance of the control cabinet (normal work to a closed
state ) of internal temperature control, To ensure that the cabinet all thermal element can work
normally, Play the best performance.

o BRUL BB R &7 LA B HARAT R 35 A FH Piracs e A AR 4 3, FRTT ARHE 54T
Any damage caused by any other applications outside of the application object described above,
Responsibility is not assumed.

@ Warning

iah: iz iz T, EE R, E2 .
Transport: In the process of handling or transport of the product, do protect the product and do
not over impact.
o TP AEFERAFIN, B A A AL R SR T (70°C,95%).
Store: Don't open storage, or stored for a long time at high temperature, high humidity
environment (70°C,95%).
o Ml KIS A Z™ 5, 5 H T H k.

Shutdown: If not using this product for a long time, please turn off the main power

@ Warning

o EERMUEN. B RS OBIAEAE ™ HE R LA B R SZ R R R N SRR I
This appliance is not intended for use by persons (including children) with reduced physical,
sensory or mental capabilities, or lack of experience and knowledge, unless they have been given
supervision or instruction concerning use of the appliance by a person responsible for their safety.
oy G X, FRIHLE 55 A [ 2 w] B A RIS A A E A 7 i
If the power supply cord is damaged, it must be replaced by the manufacturer, or service agency
or Safety certification in order to avoid a hazard.




o NV HIIMERA N, BTG SRS SRIES IR EEA, B, Keid
BRI b AR, AT A SR AR S RS .
Don’t use the product under the condition of high oil, burning gas, explosive gas, strong
corrosively condition area. Otherwise the product warrantee service is not been offered by

manufacture.

3.2 F= AR Product nameplate

Technical Data
Air Cooling Solution Voltage: DC 48V(+20%)
Model No. _ _
Capacity: Cooling : 210W/K
HRUC E 210/N/T/D
Prod. No. Power Consu.: Cooling 320W
112530/Ver. A IP Grade: IP 55

AXXXXXXXXARXXAXAXXXXXXXX

Manufacturer: Suzhou Huarui Thermal Control Technology Co.,ltd
Add: A2 Building No.2 Tian'edang Rd. Wuzhong Dis. Suzhou China
Tel: +86 512 66570332 Fax:+86 512 68792690

3.3 P2 h R S Product features

® EAHEIRLM

Suitable for high temperature

o JiilE
Self testing function
® IREMITTIRE
Alarming output to monitoring system
® Yy UifE
Easy maintenance
®  SUULEN. MEAE. REW, WIS Sh ORI 4T 1R B2 B D RE

Remote measuring, remote communication, remote control, which can realize can realize multiple

automatic protection and comprehensive self-testing function;

10



o ZHEYIIAE. WML AN . RS485 $#:1 (MODBUS-RTU #3iX) ;
Multiple self-protection design & visible monitoring interface, RS485 communication port
(MODBUS-RTU protocol);

3.4 T/EJEFE Working Principle

W2 Solar load
iiﬁﬂﬁi?///
W heat dissipated through

plates / B4 # A HHE ELECTRONICS CABINET

Te: Exhaust Air

e

S48 F
Ta: Ambient Ai

molen IT J

e Return Air

£, 7T
S 6 A Wa: Heat dissipated through

cabinet / LAE &L

= Supplier Air

‘@‘\ N 77

FHES - 25 5, 45
['W1: Internal ﬁ,Lm_l
Heat transfer plates Heat Lo ad ] o)

# - |

P e 35 30 FHAE O B XK PR, HRUC E 210 /N/T/D R4 B FAS e 38 02 L RN R T 5T (17
fto PSR T P BRIR AT T, R RR S — ANl A U . B P P A OE I R
B M SR B 2o N AMIEFR B0 KU 525 A AR R, T8I ] P S s B S B R A%
#

Heat exchanger is mostly used for enclosed area cooling, HRUC E 210/N/T/D series HEX is
designed especially for mounting in a cabinet. The unit uses ambient air for temperature regulation
so it must have access to ambient. The internal temperature of the enclosure is cooled via effective
utilization of the ambient air. An air/air counter-current plate heat exchanger is used to transfer the
heat. Two centrifuge fans, one for the internal circuit and one for the external circuit provide

ventilation.

AT A B0 XU O XU R B A Y, R T R R T e Y
The heat exchanger module is designed in such a way that the speed of the external circuit fan is

controlled according to temperature, based on the pre-set pattern.

11



3.5 WJm ¥ Vs. W #F i & Hi 2k Fan Speed Vs. Inside

Temperature Curve

Int.Fan Speed vs. Cabinet inside temperature Curve Ext.Fan Speed vs. Cabinet inside temperature Curve
AR EREEEVs HIAEA ABim B Hh £k S REREEIR Vs HAE R BRI FE 2k
)
48¢] -
ﬁ 3900 % 3900
E o
~ ~
=
z 2
- 2000 = 2000
&5 4
. s
E w
30 50 28 30 55
PIEREE Internal Temperature('C) PEREE Internal Temperature(C)

3.6 XaE ¥ it Air flow design

B PR E X
Return air AMIEFR H A
Exhaust air
P EA H X
Supply ai
upply air AMIEIRIE X
Ambient air

12



124718 % Operation logic

P tds B, EREH T AR, A BRI MRS, BoRds iR E RN
i, HEANSEEAL P, 2 E R R T Te i, B R AR 1 IR IR R ST

Power on the switch, the product will perform a self-test running program firstly. If there is any
trouble during self-test, the alarm will be generated, the monitor Display alarm fault code, the system
according to the alarm fault code to enter fault handling operation. If there is no trouble during the self-
test, system will be normal running automatically.
® [Hfi: Self-test

FRIFE W N : The self-test procedure is as follows:

B A e TR A RS

First: Detection of return air temperature sensor;

BoD KA XL

Second: Detection of internal fan;

H=D KA

The Third: Detection of external fan;

KRG IEH TARRS B AR

The normal work state of the system includes the state of standby and heat transfer.
® fF#Hliztr Standby mode

A 1B RGBS AT 26 A, AT AR BE AR HLIBATIRES, Ui AR 47 A AL -

If the return air temperature meets the condition of the Standby mode, the heat exchanger runs into
the standby operating state, At this point only the low speed fan inside.
® #iHJZ4T Heat exchange mode

A 1B DR B2 i R IS AT SR A, AT SR HE N AIZATIRES ) U Y A XUBL S AR 4 AR P 3 B2 F A
[F) BEAT EIB 1T

If the return air temperature meets the condition of the heat exchanger, the heat exchanger runs
into the heat transfer state, At this point the fan will change speed according to the cabinet inner

temperature.
3.8 BB EFTES Monitor operation guide

SoRBEAHE AT : The interface of the monitor is as follows:

S

13



T AR L FRIFE7- T A2 B HESI I D e & ST 3R

The definitions of the symbols from left to right are as follows:

BT AT E X > PRI
Indicator Definition Light Flicker
w 5 i SER AN Erk
ﬁ} Point setting Setting mode Self test
# IEAE Hdh
i;é B GRS N/A
Heat exchange Heat exchange mode
e il INAERIT Ik 2l e
'Q’ Heat Heater start Heater Alarm
¢ A AHL S AHLIE e AR
)
‘j\ External fan External fan running mode External fan Alarm
i i
((co)))
Alarm Alarm mode

o WRMNIEEZEH Show RPM of internal fan
ER/REIRIREIRES (S, FRET “a” 8, BERAXPEE, BiE M R R R TR

e JXilL B F) 2 5T

Under the return air temperature interface, press“a” will show the RPM of internal fan , press

“M” ,will show return air temperature back to main interface.
o HMLIEEZH Show RPM of external fan

FER R B XURBOIRAE (EFHHD, FRHZT “v 7 8, KB RWEE, i M SRR R 28R

e JXilL B F) 2 5T

Under the return air temperature interface, press®~ " will show the RPM of external fan , press

“M “,will show return air temperature back to main interface.

o EHISEHE Controls parameter settings
EE BRI, KiZ*ME 5 7,

HASHBERE, BRSHAL. SHAD N a v £

SRS, D5 12 Set B W 2 7R i AXRD X LK S 80H ;. lid e w "5k B a] 0k 2 80 AT &
B BWETHG L Set'#, RGRMEHRENSEIFER End, 5B 2 R SHEAAMRE: ARE
SR, MR RORIGE, BB RSHEMAMEALRSEHE . £ RS HULNKZ M 3 MR
HSHE RS WA ERMS I E.

Long press "M" key for 5 seconds, enter the parameter setting mode, then display the code of

parameters, with " a " key to select the code of parameters, select a code and press "Set" button will

display corresponding parameter values of the code, then re-use "a " button can set the parameters,

14



after finished the setting, press "Set "button, back to display states. During the setting mode, Press "M"
key to exit the parameter setting mode, in the process of the parameter values setting by pressing "M"
button that give up, quit, but does not change the parameter value. Common settings code as
described in the following table:

ez A EA U
F18 A AN 1135 FE /External fan stop temperature

F19 AN RALIT JE IEL R [0 2 /External fan start temp.

F28 i {5 Hih-/Communication address

F29 T 5 2 FE [Temp.of high temperature

F30 I I%: 75 275 ¥ /Temp.of low temperature alarm

F38 HhER% N\ i fig/External input enable

F40 R B /Password

3.9 HZ5NEEH Alarm and fault management

W e 1IN SR (B TR AR, T I A s B TR RN AR, ARG 0 SO T R

The monitor displays return air temperature at normally, If it is alarm, temperature and alarm codes
are displayed alternately, the alarm code defined as table below.

AFB/Code £ X /Meaning PiHH/Explain

EO1 PWAML 1 #ef/Int.fan1 defected

E02 AN 2 #ef/Int.fan1 defected

EO03 AbANL 1 #fE/Ext.fanl defected

E04 A AN 2 #fE/Ext.fanl defected

E05 [ JX I B A% IR W B /inner temperature senor

E09 =i 2 % /High temperature alarm

E10 i H5 % /Low temperature alarm

3.10 % Monitoring

AR TE S e i, HRIER: RS485 B2 1. 1HHLAR) I LRIUE L 5 .

The unit can be monitored by software through RS485 port. Please consult to the manufacture for
more information.

15



4 73S Installation guide

4.1 w4523 Machine installation

TEIZIE T BUR Bk AT 223
Please follow the below diagram of installation
1o AT AT I8 EaEty] TEFHSRFT AT [

. Obstacles L
Fixed screw The use screw fixation

4

H T 500mm

["]2%/Door mounting
K 4-1 %R &K Figure 4-1 Installation diagram
® HILIR. Installation steps:

1) PrbRAZ AR IS, ARG B, BRI TS e I

Removal of packaging box, check the package list and the machine is well.
2) AERIMRET, W PETHRAZIE 4-1 AAENRE b

Installed the Heat exchanger on the cabinet use screw, as Figure4-1
3) VLEZFDITFERIG, HFHRIHIAGE.

The mechanical part of installation is finished till now. Please double check.

16



A Important

BIERMTG . SIS mE e RIS L i B5°C L R R L 9506 HIFAE N {3 T 1% i

HH o
Don’t use this unit in high oil, burning gas, explosive gas, strong corrosively condition, the
ambient air must be under 55°C, and the humidity not higher than 95%.

4.2 523 Electrical installation

T4 8 5 0
TEIERE IR, TR R IR . 5 S 3 5 U
FARBEAIPRARL, AR TR RS

y o INHRR R A e b T B RIR S B P B ERES s

& o FESEAROR IS HER IELE AT BV

1f ¢ WRIRASIESIEERAT RN NIRRT IAGE 153
o2 WRAORINNNLEAEBAT; INFRRAR AR 5 &

ve : INERERRA HE RS

Instructions of display panel:
The display panel shows cabinet temperature under normal

circumstance. and shows alarm code when is a malfunction.

In the bottom is the status bar, different | amp represents different
status.

K 4-2 Bedon s I Flashing: self diagnose of temperature setting mode.

** * Lamp on: heating ; Flashing: heater alarm;

* Lamp on: external fan is running; Flashing: ext. fan alarm;

¥ ¢ Flashing: alarm.

17



s g E X o
Pin No. Symbol Definition Description
1 oV HEit YR IE A% /Positive electrode of DC power /
2 -48V H i HJE f1 M /Negative electrode of DC power /
3 PE HiL YR 2k /Ground wire power /
4 N/A N/A /
5 N/A N/A /
6 NO T4 5 45 ey -5 P/ Dry contact alarm output-NO /
7 COM T4 5 45 e -y TR /Dry contact alarm output-COM /
8 NC T 055 e -5 P/ Dry contact alarm output-NC /
9 RS485+ J# 1 $% H/Communication port /
10 RS485- i i\$% 1/Communication port /

4.2.1 F P e R 2R A0 R BT B 98 B A2 DL R R
The power, the power cable and the breaker should meet the following form, when they are

supplied by customer

WH // tem E3R // Request

HLJE // Power H R/ DC Power:- 48 VDC

HiEYE [l // Voltage range | DC:-44V~53V

HLJE 75 & /] Power capacity | 2 B LI RE /14N T 15A

Main DC power capacity must more than 15A

25 IR BWUE AN T 16AWG B{# 1.5mm?
more than 16AWG or 1.5mm?

K i o LA 30 ~40 Amps

18



e BUCEH RS (RCD) BEHRRAZRET 30mA.
Note: The installation of a residual current device (RCD) having a rated residual operating current

not exceeding 30mA is advisable.

4.2.2 FHAEIK A Pre-operational checks
P WS I 2R SR S U, 1B AR AR

After heat exchanger installation and the electrical connection are completed, please check the

following checkilist:

5 B 5H
Serial number Check items
1 PEMCIRET e K[

Ensure the screw is fastening

P AN 32t XU T B A I B S ) B0
2 Ensure that there is enough space near the internal and external

of the air condition
HRZR I B I, B G SR OER .

3 Power line to connect the right polarity

Alarm signal cables are connected correctly
M HES SRR E, EREEERIER, oW ErEK.

4 Using a multimeter to check the supply voltage, power supply

voltage is normal, consistent with the requirements on the

nameplate.
T LA TR IR CIE S IG5

Note: the correct power type of the machine sees the nameplate on the machine surface.

@ Warning

P E BT, R R, ELHTIM R, @R L N TR

When the heat exchanger is running, if there is abnormal noise, vibration, please cut off power

immediately and notify the professionals to inspect.

19



5

5.1 P2 5h4E3 Product maintenance

rE e AT £ Maintenance and Warranty

5.1.1 /&I E: Prepare tools
#* 5-1 4P 1 H Table7-1 Maintenance Tools
75 Number T. A Tools
1 i F 3% Multimeter
2 74822 7] Phillips screwdriver
3 — 22 7] Slotted screwdriver

5.1.2 H% 463 Routine maintenance

% 5-2 H# 43 Table5-2 Routine maintenance

s
No.

I H
Check items

Check methods

PR R R R 7 ¥
Solution

P 2 74 ] 1k

1. SR A e d i N FELIE o

Turn off the supply power

2. HTHsh i, Wae A fa il
%o

Pulled the power line, watch whether the

A R IUAT PR A P B
IR, NEH LA IR
U2k RIRZZ IR FABh iR 22
5

the voltage is within normal range.

1 Power line | line is loosening . .
firm 3. AR T A iR T Eigee, | TIhere ® a power fne
RIEBAMINIME ooses, You _shguld tie tightly
R AL power cable; with a
Screw the screws on the power cable screwdriver to the loose screw
terminals with a screwdriver, watch
whether the screw is loosening
A HEANEIEREETEE, 1§
SLZR AN R . BRI
g e | BT R SO I, LS ;"};g%wﬁ ATTRIATRA
P LR 2 AR IR HYE A It the vol . ithin th
2 | ott Use the multimeter to measure heat the voltage is not within the
SO age exchanger input voltage to watch whether normal range, Plegse turn off
tability the power supply immediately.

Power on heat exchanger until
the supply voltage within
normal range.

20




gy | RIS ISR, W e mima, Wi
3 e LTSZ ﬁf@ﬁfﬁvgeiroto screw the screws and If the screw is loosening,
Screw firmly watch whether the screw is loosening please tighten it
1. BRI Bk, R
FEBRE WL
U5, FFBRR T AN Lk 474t
.
RO Lo, Mg | Whie seli-testing, if there is
A /%éﬁ?‘éﬁ T I, albnormal tnoflfse, vibration,
Cooling Power on the switch and watch whether piease cut oft power
the self-test is correct. |mmed|§1te|y and_nonfy the
professionals to inspect.
2. AR R EEE, F
MR & B AD AT AL
If it is alarm while self-test,
please process

H #4251 Routine maintenance steps

VAR B 2% (P TR 4E 47— FE PR R (R 22 b 1 B 7 8 R0 ) BB R AR 888) . R e i BA R LA

It is recommended to perform preventive maintenance on the unit twice a year (depends on the

location of the site and the nearby surroundings) and the following should be done:

1) REIEATIN U KU B e 75 5 NAZESE HA R mesl, 15 KU Bk 257 s 2 B 4

Listen to the fans while in operation. The sound should be constant and with very little fluctuation

otherwise the fans are out of balance and should be replaced.

2) KM GRS HAT R T 2l .

Switch all the circuit breakers related to the climate unit off.

3) bR AR .

Remove the internal and external fan.

4)  HBRI. Hbe s SOME AR A SE T R

Clean the blades of both fans using a brush, compressed air and a vacuum cleaner.

5) MEHI/NEER]L RGBSR RS R G R, R 48RS /T 0.5bar

Clean the heat transfer core using a small brush, compressed air and a vacuum cleaner, the air
pressure should less than 0.5bar.

6) XUt .

Mount the fans back again.

7) CBIFRATIF. RGia4T 30 80, MRV DAAS [F) i s e 2 75 IR

Switch the unit ON again. This will activate the internal test program that runs for about 30 seconds,

testing the fans at various speeds.

8) 4il.

Finish.

21



5.1.3 152 (ChY J b3 775 Alarm code and handling method

% 5-3 #[%{Z 5 Table 5-3 Alarm information

L 42 TR AL T R AL B T v
Code Name Principle Process Method
R | PV | KT R A R A U B B
invs4 ey

Return air temperature
sensor alarm

%o
Check whether the return air temperature
sensor is short circuit or open circuit.

Return air temperature
sensor is short circuit or
open circuit

o TR L A 21 T35 56 4 Aor PO XUNLERAT Y DRURTL )3 22 A2 75 e s

2Bk

méﬁngnaMHn Internal fan current is not g% K Whether the internal fan cabe i

within normal range. eck Whether the internal fan cabe is
loosening.
. e o 2x A KA A AR X e T B v B

HERML : )

External fan alarm External fan currentis not | o\ \vhether the external fan cable |
within normal range. Iooigninge er the external tan cable 1S

5.1.4 HAhi# & Hr 5403 Other fault analysis and treatment

2 5-4 HAb#H

B3 #1 55 4b #E Table5-4 other fault analysis and processing

PR A

Fault state

JE R 3 #r B HERR 7572
Analysis of the reasons Solutions

RS G 5, AR A IR
i, (B A ANIE
Power on the switch ,the
cabinet temperature is too
high but heat exchanger
is not working

1. 5B I .
Power off or no power

2. WA,

Machine fault

1. foAHYE, B,

Check the power supply and the
electric circuit

2. S4B N RBER
Please contact professional
maintenance.

EHEh . RAKEFEILE
17, HHESRF M.
The machine is stopping
suddenly ,and the electric
system is normal

1. HEWIRECERIRERE.

The cabinet temperature greater
than or equal to the cooling set
temperature.

2. HAth R G

Other system fault

1. HRYE TR EOE R BhIR .
Setting start temperature
according to the needs

2. HHEALEEN AR
Please contact professional

maintenance.

22




5.2 FE A& #: Replacing of Components

NOTE: Make sure that all circuit breakers related to the climate unit are switched off before you
start.
vk AT RS A B G IE R BT A 2 Wit
5.2.1 Al 5 e Py XU How to replace the internal fan
Before you start make sure that you have the following available:

E T e BT R B R T LRI 4 eme i | G
14-M4 screws >

v" M4 Phillips screwdriver
M4 5 3KIR 22 T ]

v" A new fan(insure the same type)

— AN R R RAR R AL 5 ’—
1. Unscrew the M4 screws on the internal maintenance cover, remove the |JL_— —

internal maintenance cover;
ENP N YEP TR _ETRRET, B R RE B

2. Unscrew the M4 screws on the Interface board sheet metal, remove the Interface board

sheet metal;
1-M4 24T
SV AR RIRAT, 44 T BRS 1-M4 serew
3. Unplug the internal fan connector, unscrew the M4 screws CEE _° 0

on the fan fixed board, then remove the fan subassembly;
PR N U B 1, S XUR JRE b R ERET AR SR XU A
Prbis

4. Disassemble the fan form the subassembly with M4

Phillips screwdriver;
HI M4 0222 T8 AU XU 2L 3R
5. Mount the new fan by following stepl, 2, 3 and 4 in reverse order.

I 1-4 BOAR SD B2 2T 1 XUR o

4-M4 HEET
4-M4 screws

23



5.2.2 tnfal 58 e 41 XU How to replace the external fan
Before you start make sure that you have the following available:
FE S e 2 BTSRRI LU TR &
v' M4 Phillips screwdriver;
M4+ k1842 ]
v" A new fan (insure the same type)
—NETEI R (R RAR R A5
1. Unscrew the M4 screws on the external maintenance cover, remove the cover;
HE AR SR AR L IRET, R AN S AR IR R
2. Unplug the external fan connector, unscrew the M4 screws on the fan fixed board, then
remove the fan subassembly;
PREEAN R i, XU R FRRET, SRS XU AR R
3. Disassemble the fan from the subassembly with M4 Phillips screwdriver;
K XU AR LA B4R B
Mount the new fan by following stepl1,2 and 3 in reverse order;

I8 1-3 AIAH 5D B2 R XU o

po— 1 e | fﬂ_;x i fﬁm ik
4-M4 screws . |a a.-\.-i'! ‘I'\_‘ 1 .1 ; U

5.2.3 ia] 55 e 28 4 A How to replace the PCB-printed circuit board

Before you start make sure that you have the following available:

FE S e Hi ORI DL T RS > 2

v' M3 & M4 Phillips screwdriver; T
4-M3 HEE]
M3 & M4 ki 22 J]; 4-M3 screws i

v' Anew circuit board (insure the same type)
—NETHIZRER AR (B RAR R A A5

1. Unscrew the M4 screws placed on the cover, then remove the panel;

e

24



H AR ERERET, K AR R
2. unscrew the M4 screws on the right internal fan fixed board, unplug the right internal fan
connector, and then remove the subassembly;
A P9 R R L HRRET S A XU 1, R R A O XU L B R 5
3. Unplug all the connectors on the circuit board and then remove the circuit board with M3
Phillips screwdriver from the unit;
WioT 2 BR AR T H31 FH M3 2208 22 T IR 2 R AR AR
4. Mount the new circuit board by following stepl, 2, and 3 in reverse order.

I8 1-3 AOAH 5D R M2 B AR o

5.3 & 5 ik M4Ef& Service and repair

® {2 Warranty period

PR AR 12 M ON= i IFIRIS AT IR, Bk 18 AN (™ i R B H I D .

The product guarantee period is 12 months from product up-running time or Max. 18 month from product

delivery date.

® Jii{RJi[H Warranty coverage

A7 AR DRI, PUJE T 7 A B 5 r) T S B, A A RPN S B 41, 2 iRB I 7 TR At

PR AR e AER H DU AT AR JER Rl A A e T m] DR AZTE L

1) CEREHI;

2) ARSI S CUHLE 7S BB D

3) TR FMEGAE AT, B AR I PR i AG 2By e . i iRl 3
B 5

4) ARG AR, FE T s T BB S R A

5) JH EAT R i R AR AT AR, B AR RIS IR 55 PR T 3 AR

6) WEUIkI . MR BOKEEANTTHUE TG A O

During the warranty period, all belong to the product itself quality problems caused by fault, the company

will be free for you to repair; Household repair is required to provide the product label. But by any of the

following causes the failure does not belong to our warranty.

1) Out of the Warranty period

2) Cannot provide the product label(the product label is on the nameplate);

3) Because of the abnormal condition or environment ,or the instructions specified in the
inappropriate installation, maintenance or operation causes the fault;

4) Not caused by equipment failure, caused by user’s other equipment or software.

25



5) User changed or disassembles by theirself, or maintained by the person without authorization.

6) Caused by force major such as fires, earthquakes, floods and other damage to the fault.

517 B Disclaim
A AREAR T T AOE R e A0S AT A H & MU AT A AT 5 R A7 AT
The warranty is for the delivered products.

Irresponsible is for any loss that may be caused by equipment failure.

26



5.4 [FIg 4 Reclaim

FUAT it A ST PR BN A5 P 2™ I, T P A fi ELHAE R R AR B, 35 52 45 4 HUBURTA AT A IR
S LT AL

At the end of the unit working life, the produce must not be disposed of as urban waste; it must be taken

to a special local authority differentiated waste collection centre or to a dealer providing this service.

27



B
P N

V/L 28~ &
\—/

Suzhou Qucik Thermal Control Technology Co.Ltd

MBS RER R FRA R

No.15 xiangpu Rd Suzhou Industrial Park Suzhou China
RE - 7N - T EIX - F#E 15 S

Tel: +86 512 65335116

28



